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Biplot components: 1 and 2

Proportion explained: 0.8
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clr(X1)

clr(X2)

clr(X3)

clr(X4)

clr(X5)

clr(X6)

clr(X7)

clr(X8)

Biplot components: 1 and 2

Proportion explained: 0.75996
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Biplot components: 1 and 2

Proportion explained: 0.75996

�`*,O#���%$ =IB ��� � ��� � ������� ��"
� �
� ��) ��� ��� ����� ��
�� � 
�� �3����� 
���� � �
� )	���	�����
� )���� )	� ���3�	�����3�
� �	� � ��� ����
��#�	��� ����� 
���� � �
� )	�
� � $ �8� � 0 � � � ��� � � +%� +�+�+ � ��� � � ���
���;)������ � ��� ����� �����	�
� �������#)	�#�	�3� � ������� � ��� ��� � ��#)	� ��� ��� � � ������	 �

�
� � � �	�
� � * � � � � �

� �	�
� � � � � � � � � �	�
� � � � � � � � � �	�
� � � � � � � � � �	�
� � � � � ��� � � �	�
� � � 
��
Q;*H���.�"!#�/+5$&�%$@������$@K5O#���%$@�"!#�M10$>K5O#���%$ =IB ��=Z���Y!2E5������W&$�RI���=��1�
�
 � 	 � � � ?7�%��+-! �=!&?7�%��+-! �X'��
10$.��10$2��*LK<��$2��*�?!#�\���4�������
O2�%��+-!#�
$&+5$&�����"�Y*0� $21,�����%$2'�!.���410$>��10$2��*LK<��$2��*�?!#�\���q����*0�_O2�%��+-!#��B�
�1 
�
 � 	 � � �
?7�%��+-! �@���XV $�' *,W;*0' *0'�!X���M1,!#� 
�� 
 � ��� ?7�%��+-! �I8 ?7�%��+-! 9I8`�2?7�%��+-! <��J�qRI���Y10$2�)!2E5������W&$2��*,!#�����
+-��������������*,���������:$21 
�
 � 	 � � � ?7�%��+-! 9/���)V $2�>����+5$&����*0'�!����������(1,!#� 
�� 
 � ��� ?7�%��+-! =�� ?7�%��+-!��IB



� � � � �-) � 4 ���-) 1 �-� � 4 �3��� � 4 � � %'#&�(%'#*) �,+ �!#*� �!"���$#-�.����/ "#0� � �!#�� �3�-) �!#*)��-) 13� "#*�>� � �!�-) ��� �


�����$Z����10$2��*�?!#�M���������>10$2��'�!#����10$2��*LK<��$2��*,!#��������$2�(E5*F?���f���.�"!#� ����$&��$q$21T�"!#�/+5$&�%$&�/1,!#��'�!#�/�=$&+5$2�
������+-���"��*,W2!#� ��WH?��$2� ���]10$2�.K5O#���%$2� =IB ���m�$=IB ���;B 
�� 1,!#�>�=$&+5$2�>���q$&+ ������*0$iRI���410$2�>!2E5������W&$2��*,!#�����
+-��������������*,���������6$21�?7�%��+-! �_��*,O#�����X$&+5$&������*,��� '�!���*,��� $2' $2�����.10$(a�!#� $��"�������%$21-�=E-!2�%'��7'���1 � 
�
�
 � BNoG$2�
!2E5������W&$2��*,!#�����('��=1,!#� 
�� 
 � ��� ?7�%��+-! �.�&?7�%��+-! 9>$&+5$&�����"���q+ ����'�!#�=*0� $2�������/�������/���]10$.a�!#� $��f?$2�
��!2���������)'���1-�=$&+5$;BNQ;*0�X���(E5$&��O2!�8���$2�(E5*F?���@$&+5$&�����"���>���>� � $(���%$2�Sk�$�'��
10$�a�!#� $/�"�������%$21-�Y���>10$�a�!#� $
'���1 � 
�
�
 � B �`*0� $210�/�������28#������1��=$&+5$_���6$&+ ������*0$
RI���610$2�3!2E5������W&$2��*,!#�����H'��61,!#� 
�� 
 � ��� ?7�%��+-! <�8 ?7�%��+-!
=�� ?7�%��+-!��/$&+5$&�����"�����=$��2!2�%*,��$&�%*0$2�/�������(���@10$�a�!#� $='���1 � 
�
�
 � B

0 1 2 3 4 5 6 7 8

x 10
4

4.17

4.18

4.19

4.2

4.21

4.22

4.23

4.24

4.25
x 10

6

EASTING

N
O

R
T

H
IN

G

GRUPO 1
GRUPO 2
GRUPO 3
GRUPO 4
GRUPO 5
GRUPO 6

�`*,O#���%$ =IB ��� � � ��� ����� � � 
�� ����� � 
 ��
�������3��� ����� � ���	�
� ���'��"�)	���
� �
� �������
� � 
 � � ��� � ��#)	� ������� � � ��� ��� 
���� � �
� )	�!�	�����
� )���� )	�
��� �	�����3�
� �	� � �'� ��� 
��#�	��� ����� 
���� � �
� )	� � � $ �8� � 0 � � � ��� � � +%� +�+�+ � ��� � ���'����� �����	�
� ���'��� �	�����	������� )���� �3� ��� ��� )	� ��� � �#�	��� )	���
���� ��" ��� ��� 	 � � � � � �	�
� � * � � � � � � �	�
� � � � � � � � � �	�
� � � � � � � � � �	�
� � � � � � � � � �	�
� � � � � ��� � � �	�
� � � 
��



����� � % 13������% 4 /2# � 4 %'�-) � 4 ���-)

rN!#�)��1#!2E;k�����!7'��N*010� �����%$&�^1,!:RI������� �"��'��N$21��"!#� ��*0'����%$&�G� �(�=$��2!2�J�_?� �/����!D'��HO2�%��+-!#��8S+ ������������$2�/!#�
���Z10$�K5O#���%$ =IB � ����1G' *0$&O2�%$2�=$ � 	 ����� �3�"!#� ��*0'����%$2� '�!=1,!#�7��*,�����(O2�%��+-!#�6������� 1,��$2'�!Y'���10$Y$&+510*0��$2��*�?!#�@'���1
�M?����!;'�!('�� 
q$&�%'9BJ
���������$_K5O#���%$_���6!2E5������W&$
RI���610$2�`!2E5������W&$2��*,!#�����J+-��������������*,���������H$21-?7�%��+-! �_'��D10$
��10$2��*LK<��$2��*�?!#�����=����*0�JO2�%��+-!#��8#$21 �"!#� ��*0'����%$&�H��*,�����6O2�%��+-!#��8#���D����+5$&�������/���������D��1-?7�%��+-! �_����1�?7�%��+-! "�B
Q;*;���6����+ ������������$2�/1,!#�J' *0$&O2�%$2�=$2�H'��6��$nk�$)�"!2��������+-!#� ' *,���������3!)���D�"!#� �����%���2���/1,!#�J' *0$&O2�%$2�=$2�H'��TE5$&���%$2�
'��610$2�`�/��' *0$2�`O2��!#�M?�����%*0��$2���"!#�/+-!#��*0��*,!#� $21,����82���6�"!#� ��10���2�DRI���T������$
$&O2�%��+5$2��*�?!#�����/��*,�����TO2�%��+-!#�`��!_���
� � $Y��10$2��*LK<��$2��*�?!#�Z�%$&a�!#� $&E51,�2B_
��\1,!#�:���%$&E5$nk�!#�
�"!#� ��� 1,��$2'�!#� � 
_$�W;*0�_���
$21cB,8 ���	�>=��GeZ$&����?A �;P������%�D?$2� '���a
���N$21cB,8����	��"	�H1,!#��$2����!2�������"!#� ��*0'����%$2�Y��*,�����DO2�%��+-!#��BHQ;*0�����(E5$&��O2!�8�1,!#�J+ ��!2+5*,!#�H$2����!2�����������"!#��!;�"���XRI���
����*0�N'��_1,!#�T��*,�����7O2�%��+-!#�N$&+5$&�����"���XE5*,���X' *,��������� ��*0$2'�!#��8��YRI���_� ��!�'��_1,!#�NO2�%��+-!#�N��!(+-!#�����
� �Y+5$&���5?!#�
��10$&��!='��(10$2�TW&$&�%*0$&E51,���6RI���)+-���%�=*,��$�' *0����*0��O#� *,�%1,!('��(1,!#�6'����f?$2�DO2�%��+-!#��B

clr(X1)

clr(X2)

clr(X3)

clr(X4)

clr(X5)

clr(X6)

clr(X7)

clr(X8)

Biplot components: 1 and 2

Proportion explained: 0.75996
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� + + � *�* � � + � � ��+ * + � + � � + + � +�+ � +
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� � + � � � � � + � � *���+ + � + � � * + � + � � *
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��� + � * � � � + � � * � � + � +�+ � + + � + � � *
� � + � � � ��+ + � ��� * + + � + � ��+ + � + � ��+
��+ + � ��+ � � + � * � + � + � * + � � + � + � � �
� * + � � *���+ + � * +�+�+ + � + � � + + � + � ��+
� � + � � � � + + � � ����+ + � +�+ ��+ + � + � +�+
� � + � * � � + + � � � ��+ + � +�+ � + + � + � ��+
� � + � � � � + + � *�� ��+ + � + � ��+ + � + � ��+
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� � + � � � � � + � � � � � + � + � � * + � * � � *
� � + � � *�� � + � � ��+ � + � + � � � + � *�� � �
��+ + � � ��+�+ + � � � � + + � + � � + + � * � � +
� * + � � * � + + � � � � + + � + � * + + � *���+�+
� � + � � ��+ � + � � � * � + � + � +�+ + � � � � �
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